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2Arze] & 24 191,000 231,700 240,700
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OxUaz22= 10,952& * 1H *20Al 2t x 128 2,629
ool s 50,000& *x1H x12& 600
204 & 2 4= A H| 83,940 129,000 AN 45,060
02 &322 XH| 83,940 129,000 AN 45,060
033 500,000& x1H x12& 6,000
043 400,000 x2H x12& 9,600
O53 250,000 »8H x12& 24,000
©= 165,000& 16 x12& 31,680
o722 155,000& x4 12& 7,440
©8~93 145,000& *3H x12& 5,220
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ons=s 12,7303 x1H »150%* 10Al 2t 12& 2,292
OFL2RY 11,9528 *1H »150%*10Al 2t x2 & 359
OMNE=E 5,280
OUi <Xt 40,0003 x5« 12 2,400
OFMAH 20,000& x3H 123 720
O=M A4 60,0003 «3H «12& 2,160
OFEF I 12,576
o2z = 1,848,670& »1H x50%*23] 1,849
04z = 1,950,870 »1H x50%*23] 1,951
Oz = 2,133,550& 1 x50%*22] 2,134
09z = 2,174, 7703 x 18 x50%*23] 2,175
o1s= 2,214, 1703 »1H x50%*22] 2,215
onzs 2,251, 7403 18 x50%*23] 2,252
O=AHl 140,0002 6H »12& 10,080
Onstl 100,000& 6 »12& 7,200
04 A== 24,658 0 24,658
0132 10,109 0 10,109
OfuE= == 10,109
02 =2RA2EEHS 8,594 0 8,594
O=pALEEHZ 8,594
OZALEES 7,706
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Ons=2sEregza(4Y) 1,798
OnsEERda (LA s) 1,910
OUZMAKEE=E S 2,247
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TEX-T0 18,055 19,567 A1,512
2l 17,335 18,847 A1,512
fM29 ArR 22l bl 17,335
222 720 720 0
FNE2E 2322 720
202 o4l 7,875 9,310 A 1,435
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